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BIHAR BOARD QUESTION PAPER  

हिन्दी माध्यम / ENGLISH MEDIUM  

INTERMEDIATE EXAMINATION - 2020 
इंटरमीडिएट परीक्षा - 2020 

(ANNUAL / वार्षिक) 

BUSINESS STUDIES  
सभम : 3 घॊटे 15 मभनट]              [ऩणूणांक : 100 

SECTION - A 

प्रश्न सॊख्मण 1 से 60 तक के प्रश्न के सणथ चणय विकल्ऩ ददमे गमे हैं, जिनभें से एक 
सही है। ककनहीॊ 50 प्रश्नों के उत्तय अऩने द्िणयण चनेु गए सही विकल्ऩ को OMR शीट 
ऩय चचजननत कयें। 

 

1. सॊमकु्त ऩूॉिी िणरी कम्ऩनी के मरमे रणबणॊश देनण है।  

(a) ऐजछिक 

(b) अननिणमय 

(c) आिश्मक 

(d) इनभें से कोई नहीॊ 

 

2. बणयत भें कुर स्टॉक एक्सचेंि की सॊख्मण है 

(a) 20  

(b) 21 

(c) 22 

(d) 23 
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3. िणणणजयमक ऩत्र कण अचधकतभ अिचध होती है 

(a) 3 भहीन े

(b) 6 भहीन े

(c) 12 भहीने 

(d) 24 भहीन े

 

4. यणष्ट्रीम शमेय फणिणय कण ननऩटणन (उधणय चकुतण) चक्र है 

(a) टी + 5 

(b) टी + 3 

(c) टी + 2 

(d) टी + 1 

 

5. यणष्ट्रीम शमेय फणिणय के बणिी व्मणऩणय की शरुुआत ककस िर्य भें हुई? 

(a) 1991 

(b) 1999 

(c) 2000 

(d) 2001 

 

6. ननम्न भें प्रफनध कण उद्देश्म नहीॊ है।  

(a) रणब अियन 

(b) सॊगठन कण विकणस 

(c) योिगणय प्रदणन कयनण 

(d) नीनत ननधणययण 
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7. प्रफनध है 

(a) करण 

(b) करण औय विऻणन दोनों 

(c) विऻणन 

(d) इनभें से कोई नहीॊ 

 

8. "प्रफनध एक ऩेशण है।" मह कथन है 

(a) िॉिय आय० टैयी को  

(b) अभेरयकन प्रफनध एसोमसएशन कण 

(c) हेनयी पेमोर कण 

(d) रॉयेनस ए० एप्ऩरे कण 

 

9. ननमोिन प्रफनध कण..........कणमय है। 

(a) सहणमक  

(b) प्रणथमभक 

(c) अनणिश्मक 

(d) इनभें से कोई नहीॊ  

 

10. प्रफनध के मसद्धणॊत है 

(a) गनतशीर  

(b) रोचशीर 

(c) सणियबौमभक 

(d) इनभें से सबी  
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11. नेतण अधीनस्थों से कणभ रेतण है। 

(a) चणतुमय से 

(b) डण्ड ेसे  

(c) धभकणकय 

(d) इनभें से कोई नहीॊ  

 

12. ऩमयिेऺण प्रफनध कण.........है | 

(a) उछच 

(b) भध्मभ 

(c) ननम्न  

(d) मे सबी  

 

13. ननदेशन है 

(a) अननिणमय 

(b) आिश्मक 

(c) अनणिश्मक 

(d) सभम की फफणयदी 

 

14. ननमॊत्रण प्रफनध कण..........कणमय है। 

(a) प्रथभ 

(b) ततृीम 

(c) चतुथय 

(d) इनभें से कोई नहीॊ  
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15. प्रफनध, विऻणन के ककस रूऩ भें है ? 

(a) ऩणूय विऻणन 

(b) सयर विऻणन 

(c) अद्यध विऻणन 

(d) इनभें से कोई नहीॊ  

 

16. फिट के प्रकणय होते हैं 

(a) 2  

(b) 3  

(c) 4 

(d) 20 

 

17. ननमॊत्रण के भखु्म उद्देश्म हैं। 

(a) मबननतण  

(b) विचरन 

(c) सधुणय 

(d) इनभें से कोई नहीॊ 

 

18. फिट एक..........अिचध के मरए तैमणय ककमण िणतण है।  

(a) रम्फी 

(b) अल्ऩ 

(c) ननजश्चत 

(d) इनभें से सबी 
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19. स्थणमी ऩूॉिी कण स्रोत नहीॊ है। 

(a) ऋणऩत्रों कण ननगयभन 

(b) अॊशों कण ननगयभन 

(c) रेनदणय  

(d) बणयतीम औद्मोचगक वित्त ननगभ से ऋण 

 

20. वित्त कण सफसे सस्तण स्रोत है 

(a) ऋणऩत्र 

(b) सभतण अॊश ऩूॉिी  

(c) ऩिूणयचधकणय अॊश  

(d) प्रनतधणरयत उऩणियन 

 

21. सभनिम स्थणवऩत ककमण िणतण है  

(a) उछचतभ स्तय के प्रफॊध द्िणयण  

(b) भध्मभ स्तयीम प्रफनध के द्िणयण 

(c) ननम्न स्तय के प्रफॊध द्िणयण 

(d) इनभें से कोई नहीॊ 

 

22. बणयत भें उदणयीकयण की नीनत यही है।  

(a) सपर 

(b) असपर 

(c) ऩणूयत: विपर 

(d) इनभें से कोई नहीॊ 
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23. सयकणय ननमॊत्रण ि प्रनतफॊधकों भें कभी कयती है। 

(a) उदणयीकयण भें  

(b) ननिीकयण भें  

(c) िशै्िीकयण भें 

(d) आधनुनकीकयण भें 

 

24. फड ेआकणय िणरे उऩक्रभ भें बणयणऩयण होतण है 

(a) ऐजछिक  

(b) आिश्मक 

(c) अननिणमय 

(d) इनभें से कोई नहीॊ 

 

25. सॊगठन प्रकक्रमण भें ननदहत है 

(a) सभणन कणमय कण सभहूीकयण 

(b) कणमय कण विबणिन  

(c) उऩमुयक्त व्मजक्तमों को कणमय सौंऩण िणनण  

(d) इनभें से सबी 

 

26. सम्पे्रर्ण होनण चणदहए 

(a) सयर 

(b) कदठन 

(c) उचचत  

(d) इनभें से कोई नहीॊ 
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27. शीघ्र रयऩोटय प्रबणिशणरी ननमॊत्रण कण.........है।  

(a) कणमय 

(b) मोिनण 

(c) सॊगठन 

(d) इनभें से कोई नहीॊ 

 

28. हेनयी पेमोर कण िनभ हुआ थण  

(a) िणऩणन भें  

(b) फ्णॊस भें 

(c) िभयनी भें  

(d) अभेरयकण भें 

 

29. ननमजुक्तकयण कण सॊफॊध है 

(a) भनषु्ट्म से 

(b) भणर से 

(c) उऩकयणों से 

(d) भशीनों से 

 

30. प्रफनध कण सणय है। 

(a) सभनिम 

(b) सॊगठन 

(c) स्टणकपॊ ग 

(d) ननमॊत्रण  
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31. भणनमसक कणमय है  

(a) उत्ऩणदन 

(b) प्रफनध 

(c) विऩणन 

(d) इनभें से कोई नहीॊ 

 

32. िऻैणननक प्रफनध कफ प्रणयम्ब हुआ ?  

(a) 1913 

(b) 1832 

(d) 1903  

(d) 1920 

 

33. प्रशणसननक प्रफनध के प्रस्तुतकतणय थे 

(a) पेमोर  

(b) टेरय 

(c) टैयी 

(d) िणटसन 

 

34. िऻैणननक प्रफनध भें विश्रेर्ण है  

(a) 25%  

(b) 30% 

(c) 50% 

(d) 75% 
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35. नई आचथयक नीनत के प्रभखु अॊग है/हैं 

(a) उदणयीकयण 

(b) िशै्िीकयण 

(c) ननिीकयण 

(d) इनभें से सबी 

 

36. प्रमशऺण एक........... प्रकक्रमण है। 

(a) चणर ू 

(b) ननममभत 

(c) सतत  

(d) इनभें से कोई नहीॊ  

 

37. स्थणनणॊतयण औय प्रोनननत ननमजुक्त के...........सणधन है। 

(a) फणनम  

(b) आनतरयक 

(c) सॊघ 

(d) ठेकेदणयी 

 

38. सॊगठन के िीिन भें बती होती है। 

(a) एक फणय  

(b) दो फणय  

(c) कबी-कबी 

(d) ननयनतय 
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39. आभने-सणभने सम्ऩकय  कयनण ....... सम्पे्रर्ण है। 

(a) भौणखक 

(b) मरणखत  

(c) (a) औय (b) दोनों 

(d) इनभें से सबी 

 

40. सॊचणय व्मिस्थण कण भणगय है। 

(a) ठीक  

(b) ननजश्चत 

(c) सीधण  

(d) इनभें से कोई नहीॊ 

 

41. “............सॊगठन स्ित् ननमभयत होतण है।"  

(a) औऩचणरयक 

(b) अनौऩचणरयक 

(c) कक्रमणत्भक 

(d) इनभें से कोई नहीॊ 

 

42. ननमजुक्तकयण ऩय व्मम ककमण गमण धन है 

(a) धन की फफणयदी  

(b) आिश्मक  

(c) विननमोिन 

(d) इनभें से कोई नहीॊ 
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43. ननदेशन के प्रभखु तत्ि हैं 

(a) 2  

(b) 3 

(c) 4 

(d) 6  

 

44. प्रफनधक होतण है। 

(a) फॉस  

(b) स्िणभी 

(c) नेतण 

(d) इनभें से कोई नहीॊ  

 

45. नेततृ्ि है 

(a) सभम की फफणयदी  

(b) आिश्मक 

(c) धन की फफणयदी  

(d) अनणिश्मक 

 

46. निीन आचथयक नीनत घोवर्त हुई थी  

(a) िून, 1991  

(b) िुरणई, 1991 

(c) िुन, 1990 

(d) िुरणई, 1990 
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47. ननमोिन भें शणमभर है। 

(a) क्मण कयनण है  

(b) कफ कयनण है  

(c) कैसे कयनण है  

(d) इनभें से सबी  

 

48. “ननमोिन बविष्ट्म को ऩकडने के मरए फनणमण गमण वऩॊियण है।" मह कथन है 

(a) नमभूनै कण  

(b) हरे कण  

(c) एरेन कण 

(d) टैयी कण 

 

49. सॊगठन प्रकक्रमण के कदभ है/हैं 

(a) 2 

(b) 4 

(c) 6 

(d) 8 

 

50. अचधकणय सौंऩने के भणगय भें कदठनणई आती है 

(a) 2  

(b) 3 

(c) 4 

(d) 5 
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51. प्रफनध नौकय है 

(a) सयकणय कण 

(b) प्रशणसन कण 

(c) (a) औय (b) दोनों के  

(d) इनभें से कोई नहीॊ 

 

52. िऻैणननक प्रफॊध से रणगत भें होती है 

(a) कभी  

(b) िदृ्चध 

(c) (a) औय (b) दोनों 

(d) इनभें से कोई नहीॊ 

 

53. ननमोिन आधणरयत है। 

(a) बतूकणर ऩय  

(b) आगे आने ऩय 

(c) बविष्ट्म ऩय 

(d) इनभें से सबी  

 

54. ननम्न भें से ककसकण मोिनण से सॊफॊध नहीॊ है ? 

(a) फिट 

(b) कणमयक्रभ 

(c) कणमयविचध 

(d) अमबप्रेयणण  
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55. सभतण अॊशधणरयमों को कम्ऩनी भें अचधकणय होतण है 

(a) िोट कण  

(b) खयीद कण 

(c) बफक्री कण 

(d) इनभें से कोई नहीॊ  

 

56. विक्रम कण सफसे भहॉगण सणधन है 

(a) विऻणऩन 

(b) व्मजक्तगत विक्रम  

(c) विक्रम-सॊिधयन 

(d) िनसम्ऩकय  

 

57. सफसे अचधक व्मणऩक ऺेत्र है 

(a) ब्रणण्ड 

(b) रेफमरॊग 

(c) ऩकेैजिॊग 

(d) व्मणऩणय भणकय  

 

58. विऩणन प्रफनध अिधणयणण कण िनभस्थणन है 

(a) इॊग्रणै्ड 

(b) अभेरयकण 

(c) फ्णॊस 

(d) िणऩणन 
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59. नभनूों कण भफु्त वितयण सजम्भमरत है। 

(a) उऩबोक्तण सॊिद्यधन भें 

(b) व्मणऩणय सॊिद्यधन भें 

(c) (a) औय (b) दोनों 

(d) इनभें से कोई नहीॊ 

 

60. उऩबोक्तण अचधकणय ददिस कफ भनणमण िणतण है ? 

(a) 15 भणचय 

(b) 15 अप्ररै 

(c) 15 िुरणई 

(d) 15 िनियी 

SECTION-B 

 

प्रश्न सॊख्मण 1 से 27 रघ ुउत्तयीम हैं। इनभें से ककनहीॊ 15 प्रश्नों के उत्तय दें। प्रत्मेक के 
मरए 2 अॊक ननधणयरयत है। 

 

1. ननमभ औय नीनत भें अनतय कीजिए। 

2. कणमयशीर ऩूॊिी कण क्मण आशम है ?  

3. प्रफॊध के दो कणमय फतणएॉ ।  

4. विऩणन सम्पे्रर्ण कण चचत्र फनणइए । 

5. विऻणऩन सणभणजिक फफणयदी है। कैसे ? 

6. ऩकेैजिॊग के क्मण कणमय है ? 

7. व्मिसणम भें कणननूी िणतणियण की क्मण बमूभकण है ?  

8. ननमोिन ककस प्रकणय ननमॊत्रण को सॊबि फनणतण है ? 
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9. सॊगठन प्रकक्रमण के विमबनन चयणों को फतणइए  

10. प्रफनध क्मण है ? 

11. क्मण प्रफनध एक ऩेशण है ?  

12. िऻैणननक प्रफनध की कोई दो विशरे्तणएॉ फतणइए। 

13. ऩमयिेऺण के भहत्ि के दो बफनद ुमरणखए।  

14. ऐसण क्मों कहण िणतण है कक ननमॊत्रण ननमोिन के फगैय अनधण है ? 

15. फिट फनणने के क्मण रणब हैं ? https://www.bsebstudy.com 

16. ऩूॉिी फणिणय के दो अॊग कौन-से हैं ? 

17. अॊश फणिणय सचूकणॊक से क्मण अमबप्रणम है ? 

18. "विक्रम सॊिद्यधन विऻणऩन को प्रबणिी फनणतण है।" कैसे ? 

19. प्रबणगीम ढणॉच ेकण चचत्र फनणइए।  

 

20. कभयचणरयमों की बती तथण चमन भें अनतय स्ऩष्ट्ट कीजिए। 

21. कणमय फदरी से क्मण आशम है ? 

22. चणर ूसम्ऩनतमों के कोई दो उदणहयण मरणखए।  

23. ऩूॉिी मभरणन क्मण है ? 

24. वित्तीम ननमोिन के प्रकणयों को फतणएॉ। 

25. उऩबोक्तण अदणरत भें कौन मशकणमत कय सकतण है ? 

26. उद्मभी को आचथयक विकणस की धयुी क्मों भणनण िणतण है ?  

27. "उद्मभी सणभणनम िोणखभ उठणते हैं।" सभझणइए । 

 

प्रश्न सॊख्मण 28 से 35 तक दीघय उत्तयीम प्रश्न हैं। इनभें से ककनहीॊ 4 प्रश्नों के उत्तय दें। 
प्रत्मेक के मरए 5 अॊक ननधणयरयत है। 
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28. “प्रफनध के सबी स्तयों ऩय सभनिम की आिश्मकतण िोटी है।" वििेचनण कीजिए।  

29. िऻैणननक प्रफनध की तकनीकों को सभझणइमे। 

30. एक आदशय सॊगठन भें कौन-सी विशरे्तणएॉ होनी चणदहए ? 

31. कभयचणयी ननमजुक्त से आऩ क्मण सभझते हैं? ननमजुक्त कण प्रफनध भें क्मण भहत्ि है? 
स्ऩष्ट्ट कीजिए। https://www.bsebstudy.com 

32. सेफी के कणमों की व्मणख्मण कीजिए।  

33. ब्रणण्ड से क्मण आशम है ? एक अछिे ब्रणण्ड की विशरे्तणएॉ फतणइए। 

34. उऩबोक्तण सॊयऺण अचधननमभ, 1986 के प्रभखु प्रणिधणनों कण िणयन कीजिए।  

35. अमबप्रेयण क्मण है ? अमबप्रेयण के विमबनन मसद्धणनतों को सभझणइए । 

 

 

 

 

 

 

******* 
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BIHAR BOARD QUESTION PAPER  

INTERMEDIATE EXAMINATION - 2020 
इंटरमीडिएट परीक्षा - 2020 

(ANNUAL / वार्षिक)  

BUSINESS STUDIES 

Time: 3 Hours 15 Minutes]                  [Full Marks: 100 

SECTION - A 

Question Nos. 1 to 60 have four options, out of which only one is 
correct. Answer any 50 questions. You have to mark your selected 
option, on the OMR-Sheet. 

 

1. For a joint stock company payment of dividend is 

(a) voluntary  

(b) compulsory  

(c) necessary 

(d) none of these 

 

2. Total number of Stock Exchanges in India is 

(a) 20 

(b) 21 

(c) 22 

(d) 23 
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3. The maximum duration of commercial paper is 

(a) 3 months 

(b) 6 months 

(c) 12 months 

(d) 24 months 

 

4. The settlement cycle in NSE is 

(a) T+5 

(b) T+3 

(c) T+2 

(d) T +1 

 

5. In which year did NSE commence future trading? 

(a) 1991 

(b) 1999 

(c) 2000 

(d) 2001 

 

6. Which of the following is not an objective of management? 

(a) Profit earning  

(b) Growth of organisation 

(c) Providing employment 

(d) Policy determination 



https://www.bsebstudy.com 

7. Management is 

(a) Art 

(b) Art and Science both 

(c) Science 

(d) none of these 

 

8. "Management is a profession." This statement is of 

(a) George R. Terry 

(b) American Management 

(c) Henry Fayol 

(d) Lawrence A. Appley 

 

9. Planning is the......... function of management.  

(a) Secondary  

(b) Primary  

(c) Unnecessary  

(d) none of these 

 

10. Principle (s) of management is/are 

(a) Dynamic 

(b) Flexible  

(c) Universal 

(d) all of these 
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11. The leader takes work from his subordinates 

(a) by tactics  

(b) by stick 

(c) by threatening  

(d) none of these 

 

12. Supervision is the........ level of management. 

(a) Top 

(b) Middle  

(c) Low 

(d) all of these 

 

13. Direction is 

(a) Compulsory  

(b) Necessary 

(c) Unnecessary 

(d) Wastage of time  

 

14. Controlling is the.......... function of management. 

(a) First 

(b) Third 

(c) Fourth  

(d) none of these 
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15. Management is in which form of Science? 

(a) Pure Science 

(b) Simple Science  

(c) Semi-science 

(d) None of these 

 

16. Types of budget are 

(a) 2 

(b) 3 

(c) 4 

(d) 20 

 

17. Main objective of control is 

(a) variation 

(b) deviation 

(c) rectification 

(d) none of these 

 

18. A budget is prepared for a ........... period. 

(a) long  

(b) short  

(c) definite  

(d) all of these 
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19. The source of Fixed Capital is not 

(a) Issue of debentures 

(b) Issue of shares 

(c) Creditors 

(d) Loan from Industrial Finance Corporation of India 

 

20. The cheapest source of finance is 

(a) Debenture  

(b) Equity Share Capital 

(c) Preference Share 

(d) Retained earning 

 

21. Coordination is established by 

(a) top level management  

(b) middle level management 

(c) lower level management 

(d) none of these 

 

22. Liberalisation policy in India has been 

(a) successful  

(b) unsuccessful  

(c) total failure 

(d) none of these 
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23. Government reduces control and restirctions in 

(a) Liberalisation  

(b) Privatisation  

(c) Globalisation 

(d) Modernisation 

 

24. In large sized enterprise delegation is 

(a) voluntary 

(b) necessary 

(c) compulsory 

(d) none of these 

 

25. Organising process involves  

(a) Grouping of identical work 

(b) Division of work 

(c) Assigning work to appropriate persons  

(d) all of these 

 

26. Communication should be  

(a) Simple 

(b) Difficult 

(c) Proper 

(d) none of these 
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27. Quick reporting is.......... of effective control. 

(a) Function 

(b) Plan 

(c) Organisation 

(d) none of these 

 

28. Henry Fayol was born in 

(a) Japan  

(b) France 

(c) Germany 

(d) America 

 

29. The staffing is related with 

(a) persons  

(b) goods 

(c) tools 

(d) machines 

 

30. The essence of management is  

(a) Co-ordination 

(b) Organisation 

(c) Staffing 

(d) Controlling 
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31. Mental work is 

(a) Production  

(b) Management  

(c) Marketing 

(d) none of these 

 

32. When was scientific management introduced ? 

(a) 1913 

(b) 1832 

(c) 1903 

(d) 1920 

 

33. The propounder of administrative management was  

(a) Fayol  

(b) Taylor 

(c) Terry 

(d) Watson  

 

34. Analysis in scientific management is  

(a) 25%  

(b) 30% 

(c) 50% 

(d) 75% 
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35. Main component of New Economic Policy is/are  

(a) Liberalisation 

(b) Globalisation 

(c) Privatisation  

(d) all of these 

 

36. Training is a ................ process.  

(a) current 

(b) regular  

(c) continuous  

(d) Nene of these 

 

37. Transfer and promotions are.............source of recruitment. 

(a) External  

(b) internal 

(c) union 

(d) contractual  

 

38. Recruitment in the life of organisation is    

(a) once  

(b) twice  

(c) occasionally  

(d) continuous 
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39. Face to face contact is ........... communication. 

(a) Oral  

(b) written  

(c) Both (a) and (b) 

(d) none of these 

 

40. channel of communication system is  

(a) Right  

(b) definite  

(c) straight  

(d) none of these  

 

41. “ ........... organisation is automatically formed." 

(a) Formal 

(b) Informal 

(c) Functional 

(d) none of these 

 

42. Money spent on staffing is  

(a) wastage of money 

(b) necessary  

(c) investment 

(d) none of these 
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43. Main elements of direction are  

(a) 2 

(b) 3 

(c) 4 

(d) 6 

 

44. The manager is 

(a) Boss 

(b) Owner 

(c) Leader 

(d) none of these 

 

45. The leadership is 

(a) wastage of time 

(b) necessary  

(c) wastage of money 

(d) unnecessary 

 

46. New Economic Policy was declared in  

(a) June, 1991 

(b) July, 1991 

(c) June, 1990 

(d) July, 1990 
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47. Planning involves 

(a) What to do  

(b) When to do 

(c) How to do  

(d) all of these  

 

48. "A plan is a trap to capture the future." This statement is of 

(a) Newman  

(b) Hurley  

(c) Allen 

(d) Terry 

 

49. The step (s) of organisation process is/are  

(a) 2  

(b) 4 

(c) 6 

(d) 8 

 

50. In the process of delegation of authority difficulty comes  

(a) 2 

(b) 3 

(c) 4 

(d) 5 
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51. Management is the servant of 

(a) Government  

(b) Administration 

(c) Both (a) and (b) 

(d) none of these 

 

52. By scientific management cost 

(a) decreases  

(b) increases 

(c) Both (a) and (b) 

(d) none of these 

 

53. Planning is based on 

(a) Past  

(b) Forward 

(c) Future  

(d) all of these 

 

54. Which of the following is not related with plan? 

(a) Budget  

(b) Programme  

(c) Procedure 

(d) Motivation 
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55. Equity Shareholders get the rights in the company to 

(a) vote 

(b) purchase 

(c) sell  

(d) none of these 

 

56. Costliest means of sales is 

(a) Advertising 

(b) Personal selling  

(c) Sales promotion 

(d) Public relations 

 

57. Maximum wide scope is of 

(a) Brand 

(b) Labelling 

(c) Packaging  

(d) Trade mark 

 

58. The birthplace of marketing management concept is 

(a) England 

(b) America 

(c) France 

(d) Japan 
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59. Free distribution of Sample is included in 

(a) Consumers' promotion  

(b) Trade promotion 

(c) Both (a) an (b) 

(d) none of these 

 

60. When is Consumer Right Day celebrated? 

(a) 15th March 

(b) 15th April,  

(c) 15th July 

(d) 15th January  

SECTION-B 

Question Nos. 1 to 27 are Short Answer Typ. Answer any 15  
Questions. Each question carries 2 marks: 

1. Differentiate between Rules and Policies. 

2. What is meant by Working Capital? 

3. State two functions of management. 

4. Prepare a diagram of marketing communication.  

5. Advertising is social waste. How? 

6. What are the functions of Packaging? 

7. What is the role of legal environment in business? 

8. How does planning makes controlling possible? 
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9. Write the different steps in the process of organising. 

10. What is Management?  

11. Is management a profession? 

12. State two characteristics of Scientific Management. 

13. Write two points of importance of supervision.  

14. Why is it said that controlling is blind without planning? 

15. What are the advantages of preparing a Budget? 

16. What are the two components of capital market?  

17. What is meant by share market index? 

18. "Sales Promotion makes advertising effective." How? 

19. Prepare a diagram of Divisional Structure. 

20. Distinguish between recruitment and selection of employees 

21. What is meant by job rotation?  

22. Write any two examples of Current Assets. 

23. What is Capital Gearing? 

24. Write the types of Financial Planing. 

25. Who can complain in Consumer Court? 

26. Why is entrepreneur considered as pivot of economic growth?  

27. “Entrepreneur takes common risks." Explain.  
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Question Nos. 28 to 35 are Long Answer Type. Answer any 4 questions. 
Each question carries 5 marks.  

28. Co-ordination carries, needed at all levels of management." Discuss.  

29. Explain the techniques of Scientific Management. 

30. What should be the characteristics of an ideal organisation? 

31. What do you mean by employee selection? What is the importance 
of selection in management? Explain. https://www.bsebstudy.com 

32. Explain the functions of SEBI.  

33. What is meant by Brand? Mention the characteristics of a good 
brand.  

34. Discuss the main provisions of Consumer Protection Act, 1986. 

35. What is Motivation? Explain the various principles of motivation. 

 

 

********* 
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